UNIVERSAL SNOW BLADE MOUNTING PAD INSTALLATION MANUAL

2444.0054.1
444.0054.1

WWW.RIVAL4X4.COM



EN Regular fasteners
DE Originale montageteile
RU WTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTnTb Ha HECKONbKO 060pOTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha Heckornbko 060poToB

EN Movement Arrow
DE Bewegungsrichtung
RU [BmxeHne

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU Pacnonoxenune

EN Screw Arrow
DE Drehungsrichtung
RU lNoBopoTt




> RIVAL

KpenneHue cHerootBana / Snow blade mounting pad
444.0054.1 / 2444.0054.1

BRP: Commander (2015-), Maverick (2013-);
Yamaha: Wolverine (2016-), Viking (2013-);
Kawasaki: Teryx (2018-)

<

EN Ratchet
DE Ratsche
RU TpewwéTka

%

EN Office Knife
DE Biiromesser
RU KaHuensipckuii Hox

x1
2 3 4 5 6 7
Q H % T
x4 x4 | M8x35 x4 | M8x80 x2| &8 x8 |M8 x8
8] 9]
=2 | &&=
M8 x2 | M8 X2




S RIVAL

Kawasaki Teryx 800 (2018-)

BRP Commander 1000 (2015-)

o=

A
*(2)

ba




> RIVAL

4+ 4;6

BRP Maverick 1000 (2013-)

BRP Defender (2017-)

pop




> RIVAL

Yamaha Viking (2013-)

pL

Yamaha Wolverine 700 (2016- )




